



F-contraction on asymmetric metric spaces

Hossein Piri^a, Samira Rahrovi^a, Hamidreza Marasi^a, Poom Kumam^{b,c,d,*}

^aDepartment of Mathematics, Basic Science Faculty, University of Bonab, Bonab, 5551761167, Iran.

^bKMUTT Fixed Point Research Laboratory, Department of Mathematics, Room SCL 802 Fixed Point Laboratory, Science Laboratory Building, Faculty of Science, King Mongkuts University of Technology Thonburi (KMUTT), 126 Pracha Uthit Road, Bang Mod, Thung Khru, Bangkok, 10140, Thailand.

^cKMUTT-Fixed Point Theory and Applications Research Group (KMUTT-FPTA), Theoretical and Computational Science Center (TaCS), Science Laboratory Building, Faculty of Science, King Mongkuts University of Technology Thonburi (KMUTT), 126 Pracha Uthit Road, Bang Mod, Thung Khru, Bangkok, 10140, Thailand.

^dDepartment of Medical Research, China Medical University Hospital, China Medical University, Taichung 40402, Taiwan.

Abstract

In this paper, we introduce the notion of an F-contraction in the setting of complete asymmetric metric spaces and we investigate the existence of fixed points of such mappings. Our results unify, extend, and improve several results in the literature. ©2017 All rights reserved.

Keywords: Fixed point, asymmetric metric spaces, F-contraction.
2010 MSC: 74H10, 54H25.

1. Introduction

In 1931, for the first time asymmetric metric spaces were introduced by Wilson [16] as quasi-metric spaces, and then studied by many authors (see [1, 6, 8, 11]). An asymmetric metric space is a generalization of a metric space, but without the requirement that the (asymmetric) metric ρ has to satisfy $\rho(x, y) = \rho(y, x)$. In asymmetric metric spaces some notions, such as convergence, compactness and completeness are different from this in metric case. There are two notions for each of them, namely forward and backward ones, since we have two topologies which are the forward topology and the backward topology in asymmetric metric spaces (see [5]). Collins and Zimmer [2] studied these notions in the asymmetric context. Asymmetric metrics have many applications in pure and applied mathematics; for example, asymmetric metric spaces have recently been studied with questions of existence and uniqueness of Hamilton-Jacobi equations [8] in mind.

In recent years an interesting but different generalizations of the Banach-contraction theorem have been given by Wardowski [14]. This result have become of recent interest of many authors (see [3, 4, 10, 12, 13, 15] and references therein).

*Corresponding author

Email addresses: h.piri@bonabu.ac.ir (Hossein Piri), s.rahrovi@bonabu.ac.ir (Samira Rahrovi), hamidreza.marasi@gmail.com (Hamidreza Marasi), poom.kumam@mail.kmutt.ac.th (Poom Kumam)

doi:[10.22436/jmcs.017.01.03](https://doi.org/10.22436/jmcs.017.01.03)

Received 2016-02-10

Most recently, Piri and Kumam [9], proved a fixed point result for F-contractions for some weaker conditions on the self-map of a complete metric space which generalizes the result of Wardowski.

By following this direction of research, in this paper, we present some new fixed point results for F-contraction on complete asymmetric metric spaces. Moreover, an example is considered to illustrate the usability of the obtained results. Our result is generalization of the results announced by Wardowski [14] and Piri and Kumam [9].

2. Preliminaries

The aim of this section is to present some notions and results used in the paper. Throughout the paper, \mathbb{N} and \mathbb{N}_0 denote the set of positive integers and the set of nonnegative integers, respectively. Similarly, let \mathbb{R} , \mathbb{R}^+ and \mathbb{R}_0^+ represent the set of reals, positive reals and the set of nonnegative reals, respectively.

Definition 2.1. Let \mathcal{F} be the family of all functions $F: \mathbb{R}^+ \rightarrow \mathbb{R}$ such that

- (F1) F is strictly increasing, i.e., for all $x, y \in \mathbb{R}^+$ such that $x < y$, $F(x) < F(y)$;
- (F2) For each sequence $\{\alpha_n\}_{n=1}^{\infty}$ of positive numbers, $\lim_{n \rightarrow \infty} \alpha_n = 0$, if and only if $\lim_{n \rightarrow \infty} F(\alpha_n) = -\infty$;
- (F3) There exists $k \in (0, 1)$ such that $\lim_{\alpha \rightarrow 0^+} \alpha^k F(\alpha) = 0$.

Definition 2.2 ([14]). Let (X, d) be a metric space. A mapping $T: X \rightarrow X$ is said to be an F-contraction on (X, d) , if there exist $F \in \mathcal{F}$ and $\tau > 0$ such that

$$\forall x, y \in X, [d(Tx, Ty) > 0 \Rightarrow \tau + F(d(Tx, Ty)) \leq F(d(x, y))].$$

Wardowski [14] stated a modified version of Banach contraction principle as follows:

Theorem 2.3 ([14]). Let (X, d) be a complete metric space and let $T: X \rightarrow X$ be an F-contraction. Then T has a unique fixed point $x^* \in X$ and for every $x \in X$ the sequence $\{T^n x\}_{n \in \mathbb{N}}$ converges to x^* .

Very recently, Piri and Kumam [9] described a large class of functions by replacing the condition (F3) in the definition of F-contraction introduced by Wardowski [14] with the following one:

(F3') F is continuous on $(0, \infty)$.

Piri and Kumam used \mathfrak{F} to denote the family of all functions $F: \mathbb{R}^+ \rightarrow \mathbb{R}$ which satisfy conditions (F1), (F2) and (F3'). Under this new set-up, they proved Wardowski type fixed point results in metric spaces as follows:

Theorem 2.4 ([9]). Let T be a self-mapping of a complete metric space X into itself. Suppose, there exist $F \in \mathfrak{F}$ and $\tau > 0$ such that

$$\forall x, y \in X, [d(Tx, Ty) > 0 \Rightarrow \tau + F(d(Tx, Ty)) \leq F(d(x, y))].$$

Then, T has a unique fixed point $x^* \in X$ and for every $x \in X$ the sequence $\{T^n x\}_{n=1}^{\infty}$ converges to x^* .

Now, we recall some definitions and results on asymmetric metric spaces.

Definition 2.5 ([2]). A mapping $\rho: X \times X \rightarrow \mathbb{R}_0^+$, where X is a nonempty set, is said to be an asymmetric metric on X , if for any $x, y, z \in X$, the following conditions hold:

(am1) $\rho(x, y) = 0$, if and only if $x = y$;

(am2) $\rho(x, y) \leq \rho(x, z) + \rho(z, y)$.

The pair (X, ρ) is called an asymmetric metric space.

Definition 2.6 ([2]). Let (X, ρ) be an asymmetric metric space.

(i) The forward topology τ_+ induced by ρ is the topology generated by the forward open balls

$$B_+(x, \epsilon) = \{y \in X : \rho(x, y) < \epsilon\}, \quad \forall x \in X, \quad \epsilon > 0.$$

(ii) The backward topology τ_- induced by ρ is the topology generated by the backward open balls

$$B_-(x, \epsilon) = \{y \in X : \rho(y, x) < \epsilon\}, \quad \forall x \in X, \quad \epsilon > 0.$$

Example 2.7 ([7]). The function $\rho : \mathbb{R} \times \mathbb{R} \rightarrow \mathbb{R}_+$ defined by

$$\rho(x, y) = \begin{cases} e^y - e^x, & \text{if } y \geq x, \\ e^{-y} - e^{-x}, & \text{if } y < x, \end{cases}$$

is an asymmetric metric. Both τ_+ and τ_- are the usual topologies on \mathbb{R} .

Definition 2.8 ([2]). Let (X, ρ) be an asymmetric metric space and $\{x_n\}_{n=1}^\infty$ be a sequence in X and $x \in X$. Then

(i) We say that $\{x_n\}_{n=1}^\infty$ forward converges to x , if and only if

$$\lim_{n \rightarrow \infty} d(x, x_n) = 0.$$

(ii) We say that $\{x_n\}_{n=1}^\infty$ backward converges to x if and only if

$$\lim_{n \rightarrow \infty} d(x_n, x) = 0.$$

(iii) We say that $\{x_n\}_{n=1}^\infty$ forward Cauchy, if for every $\epsilon > 0$ there exists $N \in \mathbb{N}$ such that for $m > n > N$, $d(x_n, x_m) < \epsilon$ holds, or equivalently

$$\lim_{n, m \rightarrow \infty} d(x_n, x_m) = 0.$$

(v) We say that $\{x_n\}_{n=1}^\infty$ backward Cauchy, if for every $\epsilon > 0$ there exists $N \in \mathbb{N}$ such that for $m > n > N$, $d(x_m, x_n) < \epsilon$ holds, or equivalently

$$\lim_{m, n \rightarrow \infty} d(x_m, x_n) = 0.$$

Lemma 2.9 ([2]). Let (X, ρ) be an asymmetric metric space and $\{x_n\}_{n=1}^\infty$ be a sequence in X . If $\{x_n\}_{n=1}^\infty$ forward converges to $x \in X$ and backward converges to $y \in X$, then $x = y$.

Definition 2.10 ([2]). Let (X, ρ) be an asymmetric metric space.

(i) X is said to be forward complete, if every forward Cauchy sequence $\{x_n\}_{n=1}^\infty$ in X forward converges to $x \in X$.

(ii) X is said to be backward complete, if every backward Cauchy sequence $\{x_n\}_{n=1}^\infty$ in X backward converges to $x \in X$.

Definition 2.11. Let (X, ρ) be an asymmetric metric space. X is said to be complete, if X is forward and backward complete.

3. Main results

Let \mathfrak{F}_G denote the family of all functions $F : \mathbb{R}^+ \rightarrow \mathbb{R}$ which satisfy conditions (F1) and (F3') and \mathcal{F}_G denotes the family of all functions $F : \mathbb{R}^+ \rightarrow \mathbb{R}$ which satisfy conditions (F1) and (F3).

Definition 3.1. Let (X, ρ) be an asymmetric metric space and $T : X \rightarrow X$ be a mapping. T is said to be an F-contraction of type (A), if there exist $F \in \mathfrak{F}_G$ and $\tau > 0$ such that for all $x, y \in X$

$$\max\{\rho(Tx, Ty), \rho(Ty, Tx)\} > 0 \Rightarrow \tau + F\left(\frac{\rho(Tx, Ty) + \rho(Ty, Tx)}{2}\right) \leq F\left(\frac{\rho(x, y) + \rho(y, x)}{2}\right).$$

Definition 3.2. Let (X, ρ) be an asymmetric metric space and $T : X \rightarrow X$ be a mapping. T is said to be an F-contraction of type (B), if there exist $F \in \mathcal{F}_G$ and $\tau > 0$ such that for all $x, y \in X$

$$\max\{\rho(Tx, Ty), \rho(Ty, Tx)\} > 0 \Rightarrow \tau + F\left(\frac{\rho(Tx, Ty) + \rho(Ty, Tx)}{2}\right) \leq F\left(\frac{\rho(x, y) + \rho(y, x)}{2}\right).$$

Theorem 3.3. Let (X, ρ) be a complete asymmetric metric space and let $T : X \rightarrow X$ be an F-contraction of type (A). Then T has a unique fixed point $x^* \in X$ and for every $x \in X$ a sequence $\{T^n x\}_{n=1}^\infty$ converges to x^* .

Proof. Choose $x \in X$. Set $x_{n+1} = Tx_n = T^{n+1}x$, for all $n \in \mathbb{N}_0$. If there exists $n \in \mathbb{N}$ such that $\rho(x_n, Tx_n) = 0$ or $\rho(Tx_n, x_n) = 0$, then the proof is complete. So, we assume that

$$\rho(x_n, Tx_n) > 0 \text{ and } \rho(Tx_n, x_n) > 0, \quad \forall n \in \mathbb{N}.$$

Therefore,

$$\max\{\rho(Tx_{n-1}, Tx_n), \rho(Tx_n, Tx_{n-1})\} > 0, \quad \forall n \in \mathbb{N}.$$

So from assumption of the theorem, we get,

$$\tau + F\left(\frac{\rho(Tx_{n-1}, Tx_n) + \rho(Tx_n, Tx_{n-1})}{2}\right) \leq F\left(\frac{\rho(x_{n-1}, x_n) + \rho(x_n, x_{n-1})}{2}\right), \quad \forall n \in \mathbb{N}. \quad (3.1)$$

Now, we set

$$D(x_n, x_m) = \rho(x_n, x_m) + \rho(x_m, x_n), \quad \forall m, n \in \mathbb{N}.$$

It follows from (3.1) and (F1) that $D(x_n, x_{n+1}) \leq D(x_{n-1}, x_n)$, for all $n \in \mathbb{N}$. Therefore $\{D(x_n, x_{n+1})\}_{n \in \mathbb{N}}$ is a nonnegative decreasing sequence of real numbers. Thus, there exists $\delta \geq 0$ such that

$$\lim_{n \rightarrow \infty} D(x_{n+1}, x_n) = \delta.$$

Now, we claim that $\delta = 0$. Arguing by contradiction, we assume that $\delta > 0$. Since $\{D(x_n, x_{n+1})\}_{n \in \mathbb{N}}$ is a nonnegative decreasing sequence, so we have

$$D(x_n, x_{n+1}) \geq \delta, \quad \forall n \in \mathbb{N}.$$

From (3.1) and (F1), we get

$$\begin{aligned} F\left(\frac{\delta}{2}\right) &\leq F\left(\frac{D(x_n, x_{n+1})}{2}\right) \leq F\left(\frac{D(x_{n-1}, x_n)}{2}\right) - \tau \\ &\leq F\left(\frac{D(x_{n-2}, x_{n-1})}{2}\right) - 2\tau \\ &\vdots \\ &\leq F\left(\frac{D(x_0, x_1)}{2}\right) - n\tau, \end{aligned} \quad (3.2)$$

for all $n \in \mathbb{N}$. Since $F(\frac{\delta}{2}) \in \mathbb{R}$ and $\lim_{n \rightarrow \infty} [F(D(x_0, x_1)) - n\tau] = -\infty$. So there exists $n_1 \in \mathbb{N}$ such that

$$F((d(x_0, x_1)) - n\tau) < F(\frac{\delta}{2}), \quad \forall n > n_1. \tag{3.3}$$

It follows from (3.2) and (3.3) that

$$F(\frac{\delta}{2}) \leq F(d(x_0, x_1)) - n\tau < F(\frac{\delta}{2}), \quad \forall n > n_1.$$

It is a contradiction. Therefore, we have

$$\lim_{n \rightarrow \infty} D(x_n, Tx_n) = \lim_{n \rightarrow \infty} D(x_n, x_{n+1}) = 0. \tag{3.4}$$

Now, we claim that, $\lim_{n, m \rightarrow \infty} D(x_n, x_m) = 0$. Suppose to the contrary that there exists $\epsilon > 0$ and sequences $\{p(n)\}_{n=1}^\infty$ and $\{q(n)\}_{n=1}^\infty$ of natural numbers such that

$$p(n) > q(n) > n, \quad D(x_{p(n)}, x_{q(n)}) \geq \epsilon, \quad D(x_{p(n)-1}, x_{q(n)}) < \epsilon.$$

So, we have

$$\begin{aligned} \epsilon &\leq D(x_{p(n)}, x_{q(n)}) \\ &= \rho(x_{p(n)}, x_{q(n)}) + \rho(x_{q(n)}, x_{p(n)}) \\ &\leq \rho(x_{p(n)}, x_{p(n)-1}) + \rho(x_{p(n)-1}, x_{q(n)}) + \rho(x_{q(n)}, x_{p(n)-1}) + \rho(x_{p(n)-1}, x_{q(n)}) \\ &= D(x_{p(n)}, x_{p(n)-1}) + D(x_{p(n)-1}, x_{q(n)}) \\ &\leq D(x_{p(n)}, x_{p(n)-1}) + \epsilon. \end{aligned}$$

It follows from (3.4) and Sandwich Theorem that

$$\lim_{n \rightarrow \infty} D(x_{p(n)}, x_{q(n)}) = \epsilon. \tag{3.5}$$

Again by the triangle inequality, for all $n \in \mathbb{N}$, we have the following two inequalities:

$$\begin{aligned} D(x_{p(n)+1}, x_{q(n)+1}) &= \rho(x_{p(n)+1}, x_{q(n)+1}) + \rho(x_{q(n)+1}, x_{p(n)+1}) \\ &\leq \rho(x_{p(n)+1}, x_{p(n)}) + \rho(x_{p(n)}, x_{q(n)}) + \rho(x_{q(n)}, x_{q(n)+1}) \\ &\quad + \rho(x_{q(n)+1}, x_{q(n)}) + \rho(x_{q(n)}, x_{p(n)}) + \rho(x_{p(n)}, x_{p(n)+1}) \\ &= D(x_{p(n)+1}, x_{p(n)}) + D(x_{p(n)}, x_{q(n)}) + D(x_{q(n)}, x_{q(n)+1}), \end{aligned} \tag{3.6}$$

and

$$\begin{aligned} D(x_{p(n)}, x_{q(n)}) &= \rho(x_{p(n)}, x_{q(n)}) + \rho(x_{q(n)}, x_{p(n)}) \\ &\leq \rho(x_{p(n)}, x_{p(n)+1}) + \rho(x_{p(n)+1}, x_{q(n)+1}) + \rho(x_{q(n)+1}, x_{q(n)}) \\ &\quad + \rho(x_{q(n)}, x_{q(n)+1}) + \rho(x_{q(n)+1}, x_{p(n)+1}) + \rho(x_{p(n)+1}, x_{p(n)}) \\ &= D(x_{p(n)}, x_{p(n)+1}) + D(x_{p(n)+1}, x_{q(n)+1}) + D(x_{q(n)+1}, x_{q(n)}). \end{aligned} \tag{3.7}$$

By letting $n \rightarrow \infty$ in the inequalities (3.6) and (3.7) and using (3.4) and (3.5), we obtain

$$\lim_{n \rightarrow \infty} [\rho(Tx_{p(n)}, Tx_{q(n)}) + \rho(Tx_{q(n)}, Tx_{p(n)})] = \lim_{n \rightarrow \infty} D(x_{p(n)+1}, x_{q(n)+1}) = \epsilon.$$

So, there exists $n_2 \in \mathbb{N}$ such that

$$\rho(Tx_{p(n)}, Tx_{q(n)}) + \rho(Tx_{q(n)}, Tx_{p(n)}) \geq \frac{\epsilon}{2}, \quad \text{for all } n \geq n_2.$$

Therefore

$$\max\{\rho(Tx_{p(n)}, Tx_{q(n)}), \rho(Tx_{q(n)}, Tx_{p(n)})\} \geq \frac{\epsilon}{4}, \quad \forall n \geq n_2.$$

So from assumption of the theorem, we get

$$\tau + F\left(\frac{D(x_{p(n)+1}, x_{q(n)+1})}{2}\right) \leq F\left(\frac{D(x_{p(n)}, x_{q(n)})}{2}\right).$$

It follows from (3.5) and (F3') that $\tau + F(\frac{\epsilon}{2}) \leq F(\frac{\epsilon}{2})$, which is a contradiction, it follows that

$$\lim_{n, m \rightarrow \infty} D(x_n, x_m) = 0$$

and therefore

$$\lim_{n, m \rightarrow \infty} \rho(x_m, x_n) = 0, \quad \text{and} \quad \lim_{n, m \rightarrow \infty} \rho(x_n, x_m) = 0.$$

Hence $\{x_n\}$ is forward and backward Cauchy sequence in X . By completeness of (X, d) , there exist x^*, y^* in X such that

$$\lim_{n \rightarrow \infty} \rho(x_n, x^*) = 0 \quad \text{and} \quad \lim_{n \rightarrow \infty} \rho(y^*, x_n) = 0.$$

So, from Lemma 2.9, we get $x^* = y^*$ and hence

$$\lim_{n \rightarrow \infty} \rho(x_n, x^*) = \lim_{n \rightarrow \infty} \rho(x^*, x_n) = 0. \tag{3.8}$$

In this stage, we show that, $\rho(x^*, Tx^*) = 0$ and $\rho(Tx^*, x^*) = 0$. Arguing by contradiction, we assume that $\rho(x^*, Tx^*) > 0$ or $\rho(Tx^*, x^*) > 0$. First assume that $\rho(x^*, Tx^*) > 0$. Observe that

$$\begin{aligned} \rho(x^*, Tx^*) &\leq \rho(x^*, x_{n+1}) + \rho(x_{n+1}, Tx^*) \\ &\leq \rho(x^*, x_{n+1}) + \rho(x_{n+1}, x^*) + \rho(x^*, Tx^*). \end{aligned} \tag{3.9}$$

It follows from (3.8) and (3.9) that

$$\lim_{n \rightarrow \infty} \rho(Tx_n, Tx^*) = \rho(x^*, Tx^*). \tag{3.10}$$

So there exists $n_3 \in \mathbb{N}$ such that

$$\max\{\rho(Tx_n, Tx^*), \rho(Tx^*, Tx_n)\} \geq \rho(Tx_n, Tx^*) > \frac{\rho(x^*, Tx^*)}{2} > 0, \quad \text{for all } n \geq n_3.$$

So, from assumption of theorem, for all $n \geq n_3$, we have

$$\tau + F\left(\frac{\rho(Tx_n, Tx^*) + \rho(Tx^*, Tx_n)}{2}\right) \leq F\left(\frac{\rho(x_n, x^*) + \rho(x^*, x_n)}{2}\right),$$

and from (F1), we obtain

$$0 \leq \rho(Tx_n, Tx^*) + \rho(Tx^*, Tx_n) \leq \rho(x_n, x^*) + \rho(x^*, x_n), \quad \forall n \in \mathbb{N}.$$

It follows from (3.8) and Sandwich Theorem that

$$\lim_{n \rightarrow \infty} \rho(Tx_n, Tx^*) + \rho(Tx^*, Tx_n) = 0,$$

and hence

$$\lim_{n \rightarrow \infty} \rho(Tx_n, Tx^*) = \lim_{n \rightarrow \infty} \rho(Tx^*, Tx_n) = 0.$$

So from (3.10), we get $\rho(x^*, Tx^*) = 0$ and this is contradiction. If $\rho(Tx^*, x^*) > 0$, by using similar method, we get contradiction. Therefore $\rho(x^*, Tx^*) = 0$ and $\rho(Tx^*, x^*) = 0$, hence $x^* = Tx^*$. Now, suppose that y^* is another fixed point of T such that $\rho(x^*, y^*) > 0$. Therefore

$$\max\{\rho(Tx^*, y^*), \rho(x^*, Ty^*)\} > 0.$$

So from assumption of theorem, we get

$$\begin{aligned} \tau + F\left(\frac{\rho(x^*, y^*) + \rho(y^*, x^*)}{2}\right) &= F\left(\frac{\rho(Tx^*, Ty^*) + \rho(Ty^*, Tx^*)}{2}\right) \\ &\leq F\left(\frac{\rho(x^*, y^*) + \rho(y^*, x^*)}{2}\right), \end{aligned}$$

which is a contradiction. Then T has only one fixed point. □

Theorem 3.4. *Let (X, ρ) be a complete asymmetric metric space and let $T: X \rightarrow X$ be an F -contraction of type (B) . Then T has a unique fixed point $x^* \in X$ and for every $x \in X$ a sequence $\{T^n x\}_{n=1}^\infty$ converges to x^* .*

Proof. Choose $x \in X$. Set $x_{n+1} = Tx_n = T^{n+1}x$, for all $n \in \mathbb{N}_0$ and $D(x_n, x_m) = \rho(x_n, x_m) + \rho(x_m, x_n)$, for all $m, n \in \mathbb{N}$. As used in the proof of Theorem 3.3, we can prove that

$$\lim_{n \rightarrow \infty} D(x_n, Tx_n) = \lim_{n \rightarrow \infty} D(x_n, x_{n+1}) = 0. \tag{3.11}$$

From (F3) there exists $k \in (0, 1)$ such that

$$\lim_{n \rightarrow \infty} \left(\frac{D(x_n, x_{n+1})}{2}\right)^k F\left(\frac{D(x_n, x_{n+1})}{2}\right) = 0. \tag{3.12}$$

On the other hand from assumption of theorem, we get

$$F\left(\frac{D(x_n, x_{n+1})}{2}\right) \leq F\left(\frac{D(x_0, x_1)}{2}\right) - n\tau, \quad \forall n \in \mathbb{N}.$$

It follows that for all $n \in \mathbb{N}$

$$\begin{aligned} \left(\frac{D(x_n, x_{n+1})}{2}\right)^k F\left(\frac{D(x_n, x_{n+1})}{2}\right) - \left(\frac{D(x_n, x_{n+1})}{2}\right)^k F\left(\frac{D(x_0, x_1)}{2}\right) &\leq -n\tau \left(\frac{D(x_n, x_{n+1})}{2}\right)^k \\ &\leq 0. \end{aligned}$$

By letting $n \rightarrow \infty$ in the above inequality and using (3.11) and (3.12), we obtain

$$\lim_{n \rightarrow \infty} n \left(\frac{D(x_n, x_{n+1})}{2}\right)^k = 0.$$

So, there exists $N \in \mathbb{N}$ such that

$$D(x_n, x_{n+1}) \leq \frac{2}{n^{\frac{1}{k}}}, \quad \forall n \geq N.$$

Hence for all $m, n \in \mathbb{N}$ such that $n > m \geq N$, we obtain

$$D(x_n, x_m) \leq \sum_{i=m}^{\infty} \frac{2}{i^{\frac{1}{k}}}.$$

From the above and from the convergence of the series $\sum_{i=m}^{\infty} \frac{2}{i^{\frac{1}{k}}}$, we get

$$\lim_{n, m \rightarrow \infty} D(x_n, x_m) = 0.$$

As used in the proof of Theorem 3.3, we can prove that $\{x_n\}$ converges to $x^* \in X$ and $x^* = Tx^*$. □

Remark 3.5. Our theorems are extensions of Theorem 2.1 of [9] and Theorem 2.1 of [14] in the following aspects.

- (1) Theorem 3.3 is generalization of Theorem 2.1 of [9] from metric space to asymmetric metric space.
- (2) Theorem 3.3 gives all consequence of Theorem 2.1 of [9] without assumptions (F2) used in its proof.
- (3) Theorem 3.4 is generalization of Theorem 2.1 of [14] from metric space to asymmetric metric space.
- (4) Theorem 3.4 gives all consequence of Theorem 2.1 of [14] without assumption (F2) used in its proof.

Example 3.6. Consider $X = \{0, 1, 2\}$. Let $\rho : X \times X \rightarrow [0, \infty)$ be a mapping defined by

$$\begin{aligned} \rho(0,0) = \rho(1,1) = \rho(2,2) = 0, \quad \rho(0,2) = 2, \rho(2,0) = 1, \\ \rho(1,2) = \rho(2,1) = 2, \quad \rho(0,1) = \rho(1,0) = 1. \end{aligned}$$

Clearly, (X, ρ) is not metric space but it is a complete asymmetric metric space. Let $T : X \rightarrow X$ be given by

$$T0 = 0 = T1, \quad \text{and} \quad T2 = 1.$$

Suppose that $F_1(\alpha) = \frac{-1}{\alpha} + \alpha$, $F_2(\alpha) = \ln \alpha$ and $\tau \in (0, \frac{2}{5})$.

First observe that

$$\max\{\rho(Tx, Ty), \rho(Ty, Tx)\} > 0 \Leftrightarrow [(x = 0, y = 2) \vee (x = 1, y = 2)].$$

For $x = 0, y = 2$ we have

$$\frac{\rho(T0, T2) + \rho(T2, T0)}{2} = \frac{\rho(0, 1) + \rho(1, 0)}{2} = 1, \quad \frac{\rho(0, 2) + \rho(2, 0)}{2} = \frac{3}{2}. \tag{3.13}$$

Therefore

$$\begin{aligned} F_1\left(\frac{\rho(T0, T2) + \rho(T2, T0)}{2}\right) = 0, \quad F_1\left(\frac{\rho(0, 2) + \rho(2, 0)}{2}\right) = \frac{5}{6}, \\ F_2\left(\frac{\rho(T0, T2) + \rho(T2, T0)}{2}\right) = 0, \quad F_2\left(\frac{\rho(0, 2) + \rho(2, 0)}{2}\right) = \ln \frac{3}{2}. \end{aligned} \tag{3.14}$$

It follows from (3.13) and (3.14) that

$$\begin{aligned} \tau + F_1\left(\frac{\rho(T0, T2) + \rho(T2, T0)}{2}\right) \leq F_1\left(\frac{\rho(0, 2) + \rho(2, 0)}{2}\right), \\ \tau + F_2\left(\frac{\rho(T0, T2) + \rho(T2, T0)}{2}\right) \leq F_2\left(\frac{\rho(0, 2) + \rho(2, 0)}{2}\right). \end{aligned}$$

For $x = 1, y = 2$ we have

$$\frac{\rho(T1, T2) + \rho(T2, T1)}{2} = \frac{\rho(0, 1) + \rho(1, 0)}{2} = 1, \quad \frac{\rho(1, 2) + \rho(2, 1)}{2} = 2. \tag{3.15}$$

Therefore

$$\begin{aligned} F_1\left(\frac{\rho(T1, T2) + \rho(T2, T1)}{2}\right) = 0, \quad F_1\left(\frac{\rho(1, 2) + \rho(2, 1)}{2}\right) = \frac{3}{2}, \\ F_2\left(\frac{\rho(T1, T2) + \rho(T2, T1)}{2}\right) = 0, \quad F_2\left(\frac{\rho(1, 2) + \rho(2, 1)}{2}\right) = \ln 2. \end{aligned} \tag{3.16}$$

It follows from (3.15) and (3.16) that

$$\begin{aligned} \tau + F_1\left(\frac{\rho(T1, T2) + \rho(T2, T1)}{2}\right) \leq F_1\left(\frac{\rho(1, 2) + \rho(2, 1)}{2}\right), \\ \tau + F_2\left(\frac{\rho(T1, T2) + \rho(T2, T1)}{2}\right) \leq F_2\left(\frac{\rho(1, 2) + \rho(2, 1)}{2}\right). \end{aligned}$$

Hence T is an F_1 -contraction of type (A) and F_2 -contraction of type (B).

Acknowledgment

The authors would like to thank the anonymous referees for their respective helpful discussions and suggestions in preparation of this article. This project was supported by the Theoretical and Computational Science (TaCS) Center under Computational and Applied Science for Smart Innovation Research Cluster (CLASSIC), Faculty of Science, KMUTT.

References

- [1] G. E. Albert, *A note on quasi-metric spaces*, Bull. Amer. Math. Soc., **47** (1941), 479–482. [1](#)
- [2] J. Collins, J. Zimmer, *An asymmetric Arzelà-Ascoli theorem*, Topology Appl., **154** (2007), 2312–2322. [1](#), [2.5](#), [2.6](#), [2.8](#), [2.9](#), [2.10](#)
- [3] M. Cosentino, P. Vetro, *Fixed point results for F-contractive mappings of Hardy-Rogers-type*, Filomat, **28** (2014), 715–722. [1](#)
- [4] N. V. Dung, V. T. L. Hang, *A fixed point theorem for generalized F-contractions on complete metric spaces*, Vietnam J. Math., **43** (2015), 743–753. [1](#)
- [5] J. C. Kelly, *Bitopological spaces*, Proc. London Math. Soc., **13** (1963), 71–89. [1](#)
- [6] H.-P. A. Künzi, *A note on sequentially compact quasipseudometric spaces*, Monatsh. Math., **95** (1983), 219–220. [1](#)
- [7] A. C. G. Mennucci, *On asymmetric distances*, Technical report, Scuola Normale Superiore, Pisa, (2004). [2.7](#)
- [8] A. C. G. Mennucci, *On asymmetric distances*, Anal. Geom. Metr. Spaces, **1** (2013), 200–231. [1](#)
- [9] H. Piri, P. Kumam, *Some fixed point theorems concerning F-contraction in complete metric spaces*, Fixed Point Theory Appl., **2014** (2014), 11 pages. [1](#), [2](#), [2.4](#), [3.5](#)
- [10] H. Piri, P. Kumam, *Wardowski type fixed point theorems in complete metric spaces*, Fixed Point Theory Appl., **2016** (2016), 12 pages. [1](#)
- [11] I. L. Reilly, P. V. Subrahmanyam, M. K. Vamanamurthy, *Cauchy sequences in quasipseudometric spaces*, Monatsh. Math., **93** (1982), 127–140. [1](#)
- [12] N. A. Secelean, *Iterated function systems consisting of F-contractions*, Fixed Point Theory Appl., **2013** (2013), 13 pages. [1](#)
- [13] M. Sgroi, C. Vetro, *Multi-valued F-contractions and the solution of certain functional and integral equations*, Filomat, **27** (2013), 1259–1268. [1](#)
- [14] D. Wardowski, *Fixed points of a new type of contractive mappings in complete metric spaces*, Fixed Point Theory Appl., **2012** (2012), 6 pages. [1](#), [2.2](#), [2](#), [2.3](#), [2](#), [3.5](#)
- [15] D. Wardowski, N. Van Dung, *Fixed points of F-weak contractions on complete metric spaces*, Demonstr. Math., **47** (2014), 146–155. [1](#)
- [16] W. A. Wilson, *On quasi-metric spaces*, Amer. J. Math., **53** (1931), 675–684. [1](#)